1.

® 18744 @ 27 ® 36744
@)56714 ® 64744

A Aol & 4 QI £ 87401, Ao Aol & 5
U A Ao A2l o 2248 AT T/ o]k,

w2tA 8 x 7 = 56 (7HA])




o bl A 5 B 19, 2o 11, 3
71, 370 HER P2 Bl H 90 58y 7

=
of
-
N, of,

, 6T
5x4x3 =607 A)°|2& x = 60 ©|1, 5

O9x4x3
B ALY = ——— - = 10(7FAD) °|EE y = 10 o[t}
2= 352 T 3x2x 1 0(7HA)) ©] y 0 ot

w2 80 _6olct.

5% T o1, e 1Y, 7 18
o




3. e xAgA3a-20=2 Y FEL2Y

Y FARIE F 0 QAN A e 5B a, T WA e

4% b et gt

1 1 1
D35 @) ® % D% 36
FAIE F ¥ A A U2 H9-2] = 6x6 = 36 (7HA]) 0] L,
3a-2b=25 WZA7]= (a, b) & A (2, 2), (4, 5) Y
_ _ 2 1
7 AjolB 2 ot e — = — ©o|t}
2 7}2] o] Tote & 36— 18 [




AR

4. 1914 507421 8] =27 A7 7LE 507g0] ek o] oA 7
He ), 39 v B 40 M e E B E

> & 7HA

39 w4~ 3,6, 9, 12,---, 489] 16714

49] 8=t 4, 8, 12, 16,---, 482] 12714

37} 4 9] AFua 129 vl ¢ 12, 24, 36, 48 2] 4714]
w16+ 12 — 4 = 24(7}HA])




5.

7712
i g%
P, of| A]
%4021711—'%&'iL
MO HO
e [
o

o
1o
4>




8 Fotolat. (g uhso) A7) Hi
£ A%E A et
=13 7HA]

1, 3, 5, 7, 99 5714




=
=

Qo] Artelet]

S}
of

At 1, 2%

SH71 2
todet.

gl il
RO

A A




109#eE] 54 474, 1009788 &4 570, 500 L& 5 6 S
AA 2 BT 4= Qe FH2 2 7HAQI7E? (B, 09 A Eot= A2
A 2] gtet.)

® 1607}#] @ 170714 @ 1747}A]

@ 175744 179717

B ~

100¢9#e] 54 5702 AEE = = FHo] 500 947 T4 1
et Zov=g 500 44 6 7HE 100 942 30 7] = TF3tTh
whebA] okl R} oh= A 99 == 10 9A ] 478, 100 EA=] 35
N2 A2 S e FH9 71A] Foltt.

5% 36—1=179(7}A)




U AFHS dgE Ae ), AS BHET} oo AL

AZFH Fofl M= AE Axxx : 3x2x1=6(7H])
A7FF HA] e HeE xAxx : 2x2x1 =47 (B=E
7 BE BE & 4 ¢lth)

AZFA RA o] A A=

FHo| B 9 9jx]olt}.)

XX Ax 1 2x1=271A) (2= A

webd ot A9 S 6+4+2= 12




10.

1, 1,1, 2,2, 3, 38 A7 242 A7 71= FollA 3 71 Fot =

1,
% 9l Al Aelo] H40) 45 Tafelet.

= A

>
> ®E 2574

B ‘

n'=1x2x3x---X(n—1)xno|c}

Al 8 tad ol E2 &

1 1, 1), @, 1, 21 1, 3) 1, 2 2)1 3, 3)
(1, 2, 3)(2, 2, 3)(2, 3, 3)

7470l &3 QoA Al 8 YEste 492 = that 2
1+2—§+2—i+2—§+2—§+3!+2—§+2—§ = 1+3+3+3+3+6+3+3 =
25(7H)




